rtpcr package (version >=1.0.7)

'rtpcr' package was developed for amplification
efficiency calculation, statistical analysis and graphical

display of real-time PCR data in R.
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gpcrREPEATED Gene dif FC LCL UCL pvalue se
contrast FC pvalue sig LCL UCL se 1 C2H2-26 1.1933 0.4373 0.1926 0.9927 0.0488 0.4218
1 timel 1.0000 1.0000 0.00000 0.0000 0.703589 2 C2H2-01 -2.0067 4.0185 2.4598 6.5649 0.0014 0.2193
2 time2 vs timel 1.2555 0.5540 0.43805 3.5987 ©.532338 efficiency()
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3 D2 vs DO 3.5967 0.0003 *** 1.7693 7.3116 0.3576 S:0.5 S 0.5 2.96905 2.06482 4.26925 a 0.05508 [1] ©.0264574
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paired = FALSE, mainFactor.column, p.adj = "none", ...) width = 0.5, fill = "Reds", var.equal = FALSE)
var.equal = TRUE, mainFactor.level.order = NULL, fill = "Blues", xlab = "none",
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res <- qpcrANOVAFC(data_3factor, numberOfrefGenes = 1, mainFactor.column = 1)
gpcrMeans(res$Iim_ANOVA, specs = "Conc | Type")



